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QUESTION 1

Under ideal conditions, which frequency band will have the farthest usable range? 

A. 900 MHz 

B. 2.4 GHz 

C. 5 GHz 

D. 6 GHz 

Correct Answer: B 

 

QUESTION 2

Which organization is responsible for WLAN standards? 

A. FCC 

B. IEEE 

C. IETF 

D. ISO 

Correct Answer: B 

 

QUESTION 3

What is an 802.11 management frame transmitted by an AP? 

A. echo request 

B. ping 

C. keepalive 

D. beacon 

Correct Answer: D 

 

QUESTION 4

When designing for a multiple frequency deployment (5 GHz and 2.4 GHz), which statement is correct? 

A. The coverage of the multiple bands at the same power will be identical. 

B. 5 GHz is a higher frequency and so will travel further and penetrate walls better. 
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C. 5 GHz should generally be used for planning. 

D. 802. 11ac is available in both frequency bands so the design frequency is not important. 

Correct Answer: B 

 

QUESTION 5

Which statement is correct about channel bonding? 

A. Channel bonding increases the total number of 20 MHz channels available in the 5 GHz frequency. 

B. A maximum of two channels can be bonded in the 5 GHz frequency. 

C. Channel bonding combines two or more adjacent channels to increase throughput. 

D. Channel bonding combines two frequency bands together to increase operational efficiency. 

Correct Answer: C 
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